
RAJYA SABHA 

Thursday, the 22nd November 2001/1 Agrahayana, 1923 (Saka)  

The House met at eleven of the clock, Mr. Chairman in the Chair. 

ORAL ANSWERS TO QUESTIONS 

*6l [The Questioner (Shri Abani Roy) was absent. For answer, vide 

page 23 infra] 

Statutory dues of CPSUs
1
 Employees 

*62. SHRIMATI CHANDRAKALA PANDEY:† 

SHRI DIPANKAR MUKHERJEE: Will the Minister of LABOUR be 

pleased to refer to the reply to Starred Question 63 given in the Rajya Sabha on 

the 23rd November, 2000 and state: 

(a) the status of statutory dues payable to the employees of CPSUs; 

(b) amount liquidated so far; 

(c) the status of present dues against PF. gratuity vis-a-vis status on the 

23 rd November, 2000, enterprise-wise; 
 

(d) whether employees of Bum Standard, National Instrument, Bharat 
Brakes and Valves are not being paid wages for the last 4-5 months; and 

(e) if so, the action taken by Government to pay the arrears of wages 
immediately? 

THE MINISTER OF LABOUR (SHRI SHARAD YADAV): (a) to (e) 
A statement is laid on the Table of the House. 

Statement 

(a) and (b) According to the latest information furnished by administrative 

Ministries, the total outstanding statutory dues of workers employed in CPSUs 

were Rs. 1811 crore for the quarter ending June, 2001. The status of outstanding 

statutory dues for the quarter ending December, 2000 was Rs. 1899 crore, 

indicating that almost Rs. 100 crore of dues were liquidated during this period of 

six months. 

†The question was actually asked on the floor of the House by Shrimati 
Chandra Kala Pandey. 
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(c) Enterprise-wise details of outstanding dues of Provident Fund (PF) 

and Gratuity are not available for 23rd November, 2000 and the corresponding 

period in the current year. The latest information available for the quarter ending 

June, 2001 shows that the outstanding dues on account of PF were Rs. 860 crore 

and that of Gratuity were Rs. 106 crore. The corresponding figures for the quarter 

ending December 2000 were Rs. 895 crore for Provident Fund dues and Rs. 144 

crore for gratuity. 

(d) Wages have not been paid for the last few months to the employees in 

Bum Standard, National Instruments, and Bharat Brakes and Valves. 

(e) The CPSUs are expected to pay wages and salaries from the internal 

resources of the company. However, due to financial constraints faced by some 

PSUs, budgetary support is being provided on a case to case basis. Government 

has liquidated all the dues of workers, including the arrears of wages for units 

which were not revivable and, therefore, had to be closed down. 
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� 1800  ��
?  q	��  ���=��  �
 
�हE  �� ����? 
�� ����� ��   R�� �#T� ./+  
�ह��� ���	��� �� ह4, N�� �ह 
����� 
���
+�� ह
 ���� ह)? N�� �ह 1800 ��
? @	�� ���=�� �
 �हE �� ���� ? 

�� #*
 �'ह��� ��"����:  3	 �
 S� O�T  �� �#�#
R� ह4,  �%�=
�V/ 	�/o �� 
�� 3	��  ���� ��?� ह) 
�� �
(��D�� �' �ह 	P\+� .#-�/�F�]� ��  ���+�  �+ �ह� 
ह4, 3	�
  .2*� ��ह �� ��+=� ह) ���+ 1800 ��
? �� �हE ह)5 ���+ D��� �?�  ह)5 
.�� ��� 6� ��� �� ह
 $� �� 
�+�� �ह 0) �+� ��'  
� 
�� 	P\+� 
.#-���F�]� �� ह� ��j��ह �हE ��  ����, ��ह'  ह� �#�  �� �' 5 ...(����� )...  N�� 
3	�� �ह ��A�� ह)? ...(����� )... ह�  �#� �हE ����  ��ह��5...(����� )...  

�� ����
	� �$%"&:  ,��-'/ 0# - N�� �हE  
�+���?...(����� )... D��' 
���� �
" �+�� �हE ह) 30 ��+ �� ��  +
� ह� �� �ह� ह), ���
   ,��-'/ 0# - N��  
�हE 
�+���? ...(����� )...  

�� #*
 �'ह��� ��"����: .�  ,��-'/  0# - �� ��� 3�� �5 ...(����� )...  
.�� �� ���=��  ��  ...(����� )...   ,��-'/ 0# - �� ��  �y
�� ��  
+6 ���� �#�� �हE  
ह)5 ����  �#�#R �' �" ��� ����   ��
+��  ��  
K+�0 ������ह� 
� ��� ह)5 3	�
  �� 
��+=� ह)5 3	 K�� ��#� 
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���� ह4 
� ����  
K+�0 ������" �� ���� ��
ह6 $� ��+ ����  �� �� �H�� 3" 
ह)5   

�� ����
	� �$%"&: 
�
�V/� L0 ह)�� D#-V^� �
 ��+  ����  ��
ह65 �� 
��
+� ह45 ��ह� ��+ �
 3	�
 ���� ��
ह6  3	 ��
+� ह) 5 .�� 3	  

�-'/ 0# - 
�� 	)��  �हE �'�� �
 The owner should be held responsible and not the 

company.  R�� �#T� ��,  .��  

�-'/  0# -  
� 	��'/ �हE ह) �
 ��� ���� �
 
3	�
 ��+ �' -�+�� 	?���5 
�
�V/� L0 ह)�� D#-V^� �
 ��+ �' -�+�� 	?��� 5 

��+�  ��ह� �ह�# �हE ह) 5 .�� 3	  

�?�/ 0# - ��  	��'/  �हE �'�� �
 ����  घ� �� 
घ���� ����  ��ह' ��+ �' -�+�� ह) 5 3	 ��
+� ह4   

�-'/  0# - �� 	��'/ 760 ��
? 
q	��  ���=� �� .	�� 	)�� 
��� ह)5 ���� 	)�� 
��� ह) 5 ��� ��+ 	ह+� �ह  

0/ 
�'F�� <�  ��� 1�2�=/� �हE �'��, 
�/��� �����? �
 ��+ ��  

�?�/ 0# -, 1�2��/� �हE 

�+���5  3	 �� ����  ह45 ��ह� 3	 \�=�
�� / 
� ��� N��  ����� ह4, ह���� ��� 
��
K6, ह�  �) �� 3	�� 	��'/ .�� ��� ���� ह45  

�� #*
 �'ह��� ��"����: ���	
� ��, �4 D��� ��� �����  ��  
+6 �)��� ह= #5  

�� ����
	� �$%"&: 3	 D��� 	)�� � �� ���� ह45 	#��� �
 	)�� � ��
�6, 
�7�  ���  �
 	)�� � ��
�65 �
/ ��
ह6 ����� ह
 ��6 �हE �
 61�5  ��� �� ��  
+6 
����� ? ����� ��  
+6 	)�� ��R� ह
 ���� ह)5 	#��� ��  
+6, �7�  ���  ��  
+6 �ह�# 
����� ह
 �ह�# 	)�� �  ह
 ���� ह) +�
��  D� ��� �� ��  
+6 	)�� �  �हE ह
  ���� 
 R���#T� ��, �4 
0� 3	�
 ��� �ह� ह= # 
� D�ह� �' �� /���
�V/ 	)�� ह���5 D���  �2��  
��K �ह� ह4 
� 
�/��� ह
��  ��  ���  

�-'/ 0# - �� 	)�� �हE 
�+ �ह� ह)5 �ह�  +
� 
/���
�V/  1�	 �' ��6#��  $� ह� +
� �� * �हE �� 	�6#��5 

SHRI S. S. PRADHAN: Sir, I am on a point of order. (Interruptions) 

MR. CHAIRMAN: In Question Hour, there can't be any point of order. 

(Interruptions) 

�� ���� ��� : ���	
� ��, 3	 6� ���=� +��D65 3	 ह� ��� .+� 
.+� ���=� �� +��D65 �+ �� �4 �a+��'^� 	I �ह� <� �
 3	�� �����  
� 3	�� 
��� �'  D#/���� 
��� ह),  3	�� �H�� Kz� ह
 ���  D�
+6 3	�
 3��  	=*�� ��  

+6  ��#� �हE 
�+��� 3	�� �
 3��� 
��� �4�� ��� 
+��5  3	 �
 3��� ���� ह4 ��� 
�4 ��� +��� ह= # +�
�� D� ��� ��  �� * �%������  ��V� ���- ��� /
��� ह4, ��� ��� 
D#/�a�� ���� ह4 $� D���  ����=�  3	 �ह �� �+�� ����  ह45 �� 
���� �� ���+  
	=* +' 3	 ��ह' 	�
��� ���� ह45 �� .+� -.+� �
 3V	�Nw� N��...(����� )...  

MR. CHAIRMAN: There can be no comments on what the Chairman has said 

(Interruption) 
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�� "��  ��� : ��� �� ���+ ह)5...(����� )...  

�� ���� ��� : $� ��ह �� ��� �� ���+ ह)...(����� )...   

SHRI PRANAB MUKHERJEE: Sir, I am not going into the details of the 

problems of the Government. What Mr. Dipankar Mukherjee has said, that the 

government has a moral, legal and constitutional responsibility to meet the statutory 

dues of the employees, is also a fact. Therefore, so far as the Provident Fund is 

concerned, it must be the top priority and that should be considered as the first charge, 

because when we are taking action against the defaulting private sector employees for 

their non-compliance of the statutory requirement, can the government say that it is not 

able to comply with this simply because the Government is the owner of it? We can't 

have two standards. One can understand that there is some problem. If in six months, the 

reduction is from Rs. 1899 to only Rs. 1811 crores, it means, the financial situation in the 

country is not that fine. That means, only Rs. 88 crores have been paid over a period 

of six months, despite the assurance given by the Prime Minister. The situation is, no 

doubt, grave. 

So far as the Provident fund is concerned, can the Government give an 

assurance that providing at least Rs. 860 crores would be considered as the first charge? 

�� #*
 �'ह��� ��"����: ���	
� ��, D� �#�#R �' �
 ��� �हE ह
 ���� 
� 
 

�-'/  0# - ��  .�����  D� �����  ��  
+6 ���� 	ह+� ��� ह)5 ���=�� {���  
����� ह�3 $� ��
+�� {��� <
?�-�� 
हV�� 
�+���  ह�3  �
 �
e ह) �ह ��ह' 
���  
��6  D� �#�#R �' �����  ��  �� �'  ��� ��
�R� �हE �ह�  $� 	ह+�  �
 ����� <� 
����  �� �' <� ��
�R� �हE  �ह�5  ह� D� ��� �� +�����   ��� ���� ह4  +�
��  ह�  
���+�  	� ���+� �' �ह 	=�� �हE ह�3 ह)5 D��' �
(��D��# 3�� ह4 $�  W� ���= 3	 �
 
�
(��D�� �� 	
�
�� ह4 +�
�� �ह ह����  ��� ह) $� ह� D�  ��� �
 �
� �'�� 
� 
 

�-'/ 0# - �� �Q�� �� �Q�� ������ ह
5  

SHRI J. CHITHARANJAN: Sir, the hon. Minister has admitted that the total 

outstanding dues of workers employed in CPSUs were Rs. 1811 crores for the quarter 

ending June 2000. This amount consists of wage arrears, Provident Fund, and gratuity. 

All these are statutory dues. If statutory dues are not cleared, then there are provisions in 

the law to take action. But the agencies that are to take action are the Departments of the 

Government itself. Therefore, they are not taking action. The money is to be given by 

the companies and not by the Government. Regarding the Provident Fund, Mr. Pranab 

Mukherjee has already spoken. Gratuity is an amount due to those workers who have 

already retired. 
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Therefore, they are not getting this amount after one month or two months or 

three months or four months or eight months or even one year. They have 

remained without getting the gratuity. They are not having any employment 

and they are not getting wages. The Government can understand the plight of 

these people. Government says that this money will have to be given by the 

companies from their internal resources. Of course, if there arS internal  

resources, the Government may direct the companies to pay these dues 

immediately.  If there are no internal resources, then my suggestion would be 

that it should be given through budgetary support. Therefore, my request is 

that this being the statutory dues, the Government should take an immediate 

decision in this regard. The companies which have their own internal 

resources, let them pay it Otherwise, the Government should give the budgetary 

support to clear these dues. 

�� ��� ����: ���	
� �ह
��, ������ ��V� �� �
 ��� 	=*� ह) , �
  
�ह �ह� ह)  ����� �� 1�	 30 
�
�V/B�  �����  $� 
�P!��  �H� 	� �?�  6O� +���  
�� ���  �� �ह� ह4 ह���� 	�� 3".	�.�� �' .
R��� ह), ह� �?�  6O� �� ���� ह45 
+�
�� �ह �� ��K��   ह) 
�  �?� 6O� �� �=#
� �ह 	P\+� ��N/� ह4 $� �
 ह��� 
D#-V^� �� |ह�D/ 	�	� ���� 
��� ह), /�N�/�D+ 
�
�V^� ��  +
� ह4, �ह ��K �ह� ह4 
� 
�H� �� �=
�/ �����+ ह
 ���� ह4 $� �H� �� �हE ह
 ���� ह4 �ह� ���+ �)��  
� �ह 
�ह� ह4 �ह �� V/�/�=/��  -��B ह4 �ह �4 �����  ह= # �J��� ��, ���� �� �ह ��� ह
�� 
��
ह�� <�, +�
�� }�� �हE ह) 
� ��� �� * ह�3 ह� �हE ह) 5 ह� +����� �

��  �� 
�ह� ह4, +����� ह� D�  ��� ��  
+6 ��� �� �ह� ह4, 	T 
+K �ह� ह),
�
�V^� �� ��� 
�� �ह� ह4, 6-
�
�V^�
/� 
�
�V^� �����'/ 6� ह4 �ह 	P\+�  ��N/�  ��  �=
�/ 
ह4,�" ��� �4�� .	�� �#T�+� ��  .
R��
��� �� �ह� 
� 6O� ��� +�
�� ���� �ह�� 
<� 
� �ह �=
�/ �#� ह
 ��6#��, 
�N�� �' 3 ��6#��5  �ह �ह��  
� ह��
 ह�-� 6O�  
+��� ��
ह��,  D��� 3��� �हE ह45  
�P!�� �H� 	� �
 ~�B ह) 	�.60. ��  �ह ���� 
��I� ���" ह), �ह ���
 �Q�� �� �Q�� 
�+�� ��
ह�' 5 D���  
+6 �����   ��� 
�हE �� �हE �� �ह� ह4, M��  �हE ह)5 �����  ��� �� �ह� ह) 5 S� �#T�+� ��  ह�< 
�' �
 �� * ह4 �ह ह� +
�   ��� �� �ह� ह45 6-
�
�V^�
/� 
�
�V^�B ह)�� D#V^�� ह
, 
��ह� /�N�/�D+ ह
 ��  $� �
" ह
, �4 3	�� �ह�� ��ह�� ह= # 
� �'��  	�� 
+V/ ह)5 �4 
	I�� �q  �q#  �
 60= . ��. ��. 3". ह) , 6�.-�.��. ह), 98 �# 	��� ह), �� �� �ह 
���+ 	=*�  ह��� �ह ��=+ ���� �� ���  
��� $� 121  ��
? q	�� ��=+ 
���5 
���+ �ह ह) 
� M�� �हE ह) 
� ह� �)(� ह4 5 ह� .	��  ��� �� �ह� ह)  ������  
��V�� �� �
 D2*� ह) �
 ��K�o �� �ह �ह� ह4,  �ह ह���� 
�+ �� �� D2*� ह), ह� 
�
 �� ��+�0 ह), +�
�� ��  ��� �
 ह� �� �ह� ह4 5 ह� .	��  ��� �� �ह� ह4 
+�
�� �ह �� ��K�� ह) 
� D�  ���� ��  �+�� �
 �# 	���  ह4  �ह ��� �� � ह� $� 

�� ��ह �� 
���D� ह
 ���� ह), 
�� ��ह �� ...(����� )...   
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�� "��  ���: ��� 	�#� �ह��� 3	 +� +�
��� $� �ह �� 3	 ह��� �' 
3�� ��� ��
��� 5....(����� )...  

     �� ��� ����: ��� ��ह� �ह� �
 �ह �ह� ह= # �ह� �
 �4 3	�� 
���� 
�� �ह� ह= # 6O� ����� �� �हE 
+��  M�� 
�Q�� + �हE ह) 5 6O� �� V�� 	� 
+�� 
��� ह), 1�	  30 
�
�V/�� ��� �� ��  ह���� �#T�+� �' ��F/�  �� ��  ह��� 
	�.60.��  ���+� �' �?�" �� ��� 
��� ह)5 �� * �� ��B .� ��.3".60.3�. �' ह4, 
�� * �
/� �' ह4, ���� �) �� ��=+  ��' �ह 
�N�� ह���� ����� ह4. .� D� 
�N�� �� 
�) �� 
�	/� ��6, D��'  ��  �

�� ��'��5 98 	P\+� ��N/� �# 	��B �� ह��� ��=+� 
�� ह)5  

�� ���� ��� : ���	
� �ह
��, �4 3��W�� �#T� ��  �� �ह �ह�� 
��ह�� ह= # 
� ���� �������  ��  .�����  

�-'/ 0# - �� 	)�� 6� ��	��/ .��t# / �' 
�K� ���� ह) $�  D� 	P\+� ��N/�  .#-�/�F�]� �
 D� 	)��  �
 .+� .��t# / �' 
�K�� <�5 �ह 	)�� .+� �� �K�� ह�6 �� +
�� �
  

�-'/ 0# - �� 	)�� ���� �' 3	7� 
N�� ह
 �ह� ह)?�4 �ह ����� ��ह�� ह= #  
� N�� �ह 	)�� .+� �� .��t# / �' �K ���  
<� $� �
� �K�  ��� <� �
 N�� D� 	)�� �
 ����� �� 
��� �=��� ��� ��  
+6 �=B  

��� $� �
� �=��� ��� ��  
+6 D��  �=B 
��� ��� ह
�� �
 �ह 
�� �� �=B 
��� 
$� D� .��t# / �' �� �� �� 	)�� +
��  �
 ����  ���� ह)? ��q �� .� �� �� + 
�+� 
�� ��  3	�� �
 ��� ���" ह), �ह ���� ��� �� �� 	'F-� ह), �ह �� 3	 
���D����?  

�� ��� ����: ���	
� �ह
��, ������ ��V� �� �
 	=*� ह), �ह �����  
��0� 
��� �� 
�P!�� �H� 	� �4�� 	ह+� 
�V��� �' ����� ह4 5 ह����  �

�� ह4, �
 
���� ��V�� ह) �ह 
��/ ह), �+A� ह�" ह), ���� 
��+�� ��  ��� ����  ��  
+6 ह� 
	=��  ���� �� +�� ह�6 ह45 

�� ���� ��� : �ह ���� ����� �हE ह), �ह .���� ह
��5 .�� �#T� �� 
�
 �������  �हE ह) �
 �ह ��� �' ��� �' +�
�� D� 
�e� �' �� �� �ह 	'F-� ह) �ह 
�� 	=�� ������� ��� �
 
�+�� 
� 3�!���� ह) 5 ��< ��< �ह �� ��� �' 
...(����� )...  

�� ��� ����: 3	�
 ������� �4 	=�� -�/��D� 
�+�� �=#��5 

�� ���� ��� : ��< ��< D� 	)�� 	� \��� �� �+�� ह)5  

�� ��� ����: (�� ह), �ह �H� �ह �ह� ह), ������� ���
O� ह), \��� ��  
ह) ����  ���' ह45...(����� )...  

�� ���� ��� : �ह �� ���6# 
� ��	��/ .��t# / �K� ���� ह) D� ��	��/ 
.��t# / �' �K� ह�3  	)��  ���  ��  
+6 �=B 
��� ��� ह) $� 
�� �� D� 
�e�  �' 

�W�� 
���5 �ह �� ��+=��� ह
�� ��
ह��5  
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�� ��� ����: �ह ���+ D��' �हE K?� ह
�� ह)5 ...(����� )...  

�� ���� ��� : D���  
+6 
�� �� 
�W�� 
���, �ह �� ��� �
 ��+=� 
ह
�� 
� 3�!����  ह)5  

�� ��� �
	� 	���	: S��s  !� ��  (�) ��� ��  
+6  ������ �#T� �� 
�� �ह� ह) 
�  z��� ���+� 
� PV<
� ��  .����� ��  ��/�� �ह����  ��� �� �� 
�ह� ह) 5 �4  ������ �#T� �� �� �ह ����� ��ह�� ह= #  
� �ह  z��� ���+� 
� PV<
� 
�� 3�+� N�� ह), �) ��  �ह PV<
� 3#��  ����  ह) $� �=��� .� �� 
���� 
��/�� �ह���� �� �" ह4 $� 3�� ��/�� �ह���� ���� �� N�� 
���� ह)?  

�� ��� ����: ���	
� �ह
��, �4�� ��q �' ह� �ह� <� 
� 0�D�'� 

�
�V^� �� �
 D� ���+� �' ��/� V	
/� 
�+� ह) �ह 1999-2000 �' 2081 ��
? <� 
$� 2000-2001 �' 1374  ��
? �� <� �4��  3	�� ��q �' ह� 
����� 
��� 
� ह)�� 
D#-V^�, /)N�/�D+ $� ���� 6-
�
�V^�
/� 
�
�V^�� 
����  �ह� 	P\+� 
��N/� 3�� ह), �ह ����  +
�  D�  ��� �' +�� ह�6 ह45 .	�� 	=� ���� +�� �� ��  
	=��  �

��  �� �ह� ह45 �)�� /�N�/�D+ ह), �4 3	��  
����� ���� ��ह�� ह= # 
� 
�HPN��� �=
�/ 
���D� 
��� �� �ह� ह4, �����+ 
��� �� �ह� ह45  

�� ��� �
	� 	���	: �ह ����  !� �हE ह) 5 �4 �� �+ D��� ����� 
��ह�� ह= #  
� �
 3	��  �7� 
��� ह)  
�  z��� ���+� 
� PV<
�  ��  
.�����, z��� ���+� �� PV<
� �� 3�+�  3	 �) �� ���� ह4? $� �=��� �ह 
� 

���� ��/��  �ह���� 3	�� �� ह) $� 3�� 
����  ��/�� �ह���� ���� �� 

���� ह)?  

�� ��� ����: ���	
� ��, M�� ह) 
� �ह  !� �
 D�ह���  	=*� ह) �ह 
�ह�� 
�V��� ह),  D�
+6  �4 D��� 	=�� �������  D��
 �� �=#�� 
� 
��-
�� 
��ह �� �ह�#-�ह�# 
���
 
���� 
��� ह)5  

�� �,���� : (�� ह)5 

�� �$��� �����:  ���	
� ��, �ह �ह�� �हz�	=W�  !� ह4, D�
+6  D� 
	� .�� 3	 6� L�� 
-���� 
� .���
�  �� �'�� 5 �
 (�� �ह���5 

�� �,����: ह�#, �' �'��5 ...(����� )...  �

/� �� ��
�65  

*63. [The questioner (Shri K.C. Kondaiah) was absent. For answer 

vide page 23 -infra.] 
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